https://lwww.leads4pass.com/p2090-078.html

L Qads 4 PQSS 2024 Latest leads4pass P2090-078 PDF and VCE dumps Download

P2090-07895%AS

IBM InfoSphere MDM Standard Edition Technical Mastery Test v1

Pass IBM P2090-078 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.leads4pass.com/p2090-078.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

P2090-078 Practice Test | P2090-078 Exam Questions | P2090-078 Braindumps 1/3


https://www.leads4pass.com/p2090-078.html
https://www.leads4pass.com/p2090-078.html
https://www.leads4pass.com/p2090-078.html

https://lwww.leads4pass.com/p2090-078.html
2024 Latest leads4pass P2090-078 PDF and VCE dumps Download

QUESTION 1

How do you store your most commonly used Job settings?

A. Right-click the Job results and click \\'Save Configuration\\

B. Check the \'Save as a Template\\' option in Jobs

C. They are automatically saved as \\'Favorites\\' in Jobs

D. Deploy your Hub configuration and they are stored in the \\'jobs\\' project folder

Correct Answer: B

QUESTION 2

What are anonymous values used for?

A. To treat common default values as if they were NULL (like, BABYBOY and BABYGIRL)

B. To see if people are using common alias names (like, ED and CHUCK)

C. To treat common nicknames as if they were the formal names (like, CHUCK converting to CHARLES)

D. To help protect the data and privacy of customer data (like, sorting the digits in a Social Security Number so it is
unrecognizable)

Correct Answer: A

QUESTION 3

Which final bucket would the EQMETA Bucket Generation Type create with the name "Eddie"?
A. Use nicknaming to convert it to \'EDWARD\\'

B. Use phonetics to convert it to \WET\\'

C. Use nicknaming and phonetics to convert it to Edward, then to \\ETWRT\\'

D. Use nicknaming and phonetics to convert it to Ed, then to WET\V

Correct Answer: C

QUESTION 4
Which task type occurs when two different member records share a unique identifier?

A. Potential Overlay
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B. Potential Duplicate
C. Potential Linkage
D. Review Identifier

Correct Answer: D

QUESTION 5
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What is the view of a member or entity in Inspector called?

A. Enterprise View
B. Composite View
C. Consolidated View
D. Most Current View

Correct Answer: B
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